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[ @S+20{H) HE: 7|2 AMUE|R ]

T '25 "30 '35 '40 '45 '50
= A| 9,451 12,787 15,642 17,870 19,984 21,798
=tk = Lf 8,394 8,840 9,166 9,507 9,711 9,946
| 17,845 21,627 24,808 27,377 29,695 31,744
= A 9,307 11,900 14,117 15,781 17,288 18,538
SHE = LY 7,299 7,687 7,970 8,267 8,444 8,649
| 16,606 19,587 22,087 24,048 25,732 27,187
= A| 9,287 11,773 13,898 15,427 16,602 17,513
- = Lf 6,204 6,534 6,775 7,027 7,178 7,352
| 15,491 18,307 20,673 22,454 23,780 24,865

d 1 SEHddE U4t BI04 M oid] AU L

[ oH] AlL}E|2 @ : 7|2 AlUE|e XM HEFRS 2 HE(+15%) ]
chel: B o
= 25 30 '35 40 45 '50
= A 10,868 14,705 17,988 20,550 22,982 25,068
Stk | = U 8,394 8,840 9,166 9,507 9,711 9,946
2 19,262 23,545 27,154 30,057 32,693 35,014
= | 9,307 11,900 14,117 15,781 17,288 18,538
SE | =4 7,299 7,687 7,970 8,267 8,444 8,649
2 A 16,606 19,587 22,087 24,048 25,732 27,187
= | 7,894 10,007 11,814 13,113 14,112 14,886
?= | = 6,204 6,534 6,775 7,027 7,178 7,352
2 A 14,098 16,541 18,589 20,140 21,290 22,238
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= '25 '30 '35 '40 '45 '50
= A 9,832 13,303 16,273 18,590 20,790 22,677
ek | = 8,394 8,840 9,166 9,507 9,711 9,946
g 18,226 22,143 25,439 28,097 30,501 32,623
= A 9,307 11,900 14,117 15,781 17,288 18,538
SE | = 7,299 7,687 7,970 8,267 8,444 8,649
2 16,606 19,587 22,087 24,048 25,732 27,187
= A 8,912 11,298 13,338 14,804 15,933 16,807
1= | = 6,204 6,534 6,775 7,027 7,178 7,352
2 15,116 17,832 20,113 21,831 23,111 24,159
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= | 4,785 5,346 5,787 6,149 6,445 6,690
2= = L 519 247 567 588 600 615
2 5,304 5,893 6,354 6,737 7,045 7,305
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= A 5802 | 6730 | 7549 | 8413 | 9229 | 9932

<k | = 702 739 767 795 812 832
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[ oflH] ALI2|2 @ : 3k 10:E72H10~19)2] ClIZX|-AZX|ZH X[o|H|2)E B ]
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=& = LY 611 643 667 692 706 723
2 A 5,428 6,050 6,561 7,062 7,499 7,872
= A 4,627 5,170 5,596 5,946 6,232 6,469
s | =4 519 247 567 588 600 615
A 5,146 5,717 6,163 6,534 6,832 7,084
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= LY 53 51 55 59 63 66
oI = | 7,393 10,168 12,510 14,327 16,069 17,573
| 7,446 10,219 12,565 14,386 16,132 17,639

=Ly 2,709 2,851 2,945 3,050 3,115 3,194

Z= =X 434 510 557 589 621 651
A 3,143 3,361 3,502 3,639 3,736 3,845

= LY 3,573 3,755 3,888 4,031 4,110 4,209

M= = K| 293 326 350 372 365 369
A 3,866 4,081 4,238 4,403 4,475 4,578

= LY 316 330 340 352 359 369

o= = | 52 73 92 117 147 181
| 368 403 432 469 506 550

= LY 302 321 329 339 344 351

‘;j) = | 70 98 121 140 157 172
A A 372 419 450 479 501 523

o= =LY 119 133 135 137 137 137
=2t = LY 152 171 174 176 176 175
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S =X 7,284 9,476 11,308 12,677 13,928 14,971
A 7,330 9,520 11,356 12,728 13,983 15,029
= LY 2,355 2,479 2,561 2,652 2,708 2,778
2= =K 427 474 502 519 536 552
A 2,782 2,953 3,063 3,171 3,244 3,330
= LY 3,107 3,266 3,381 3,505 3,574 3,660
M == = | 289 303 315 328 316 314
A 3,396 3,569 3,696 3,833 3,890 3,974
= U 274 287 296 306 312 320
o= = | 52 68 83 103 126 154
A 326 355 379 409 438 474
= LY 262 279 286 295 299 306
ot
(= 5) =X 69 91 109 123 136 146
A 331 370 395 418 435 452
o 4= =LY 103 115 117 119 119 119
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Uk | = 3 4 5 6 6 7
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MUEIEAZAL 7|24 o S 7Y ZEZNE HE AS T FJF 22 =7



<ofiH| ALtz O-5&(S2), 2 ¥
T 2025 2030 2035 2040 2045 2050
= 46 44 48 51 55 58
ol = K| 7,284 9,476 11,308 12,677 13,928 14,971
| 7,330 9,520 11,356 12,728 13,983 15,029
= U 2,355 2,479 2,561 2,652 2,708 2,778
Z= = K| 427 474 502 519 536 552
A 2,782 2,953 3,063 3,171 3,244 3,330
= LY 3,107 3,266 3,381 3,505 3,574 3,660
M == = K| 289 303 315 328 316 314
| 3,396 3,569 3,696 3,833 3,890 3,974
= U 274 287 296 306 312 320
o= = | 52 68 83 103 126 154
A 326 355 379 409 438 474
=Ll 262 279 286 295 299 306
g
(£3H = | 69 91 109 123 136 146
A A 331 370 395 418 435 452
o =LY 103 115 117 119 119 119
St | = 132 149 151 153 153 152
AtM | = 39 44 44 45 45 44
Zzok | Iy 15 17 17 17 17 17
rE = Ly 12 13 13 14 14 14
et | = 3 4 5 6 6 7
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<ofld| AlLtE|2 O-2I=(S3), 2 H>
T 2025 2030 2035 2040 2045 2050
=LY 39 38 41 44 46 49
ol = | 6,180 7,969 9,466 10,536 11,376 12,034
2 6,219 8,007 9,507 10,580 11,422 12,083
= U 2,002 2,107 2,177 2,254 2,302 2,361
2= =X 362 399 420 431 437 443
A 2,364 2,506 2,597 2,685 2,739 2,804
= LY 2,641 2,776 2,874 2,979 3,038 3,111
M = = | 245 255 264 273 258 252
A 2,886 3,031 3,138 3,252 3,296 3,363
= U 233 244 251 260 265 272
o= = | 44 57 69 86 103 123
A 277 301 320 346 368 395
=Ll 223 237 243 251 255 260
ot
(= 5) =X 58 77 92 102 111 117
A A 281 314 335 353 366 377
o= | =i 88 98 100 101 101 101
st | = 113 127 128 130 130 129
ALH = Li 33 37 38 38 38 38
. = U 13 14 15 15 15 14
T = LY 10 11 11 12 12 12
Xk | = 3 4 4 5 5 6
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TdE AL AW (oo ALzl @)

« 7|2 AlLtz|ol ZEA 10d42H10~"19)2] of| Sx|-4 =x[Zt Xjo[(H|8)E Y
<ofH| ALtz @-=2HS1), BF H>
T 2025 2030 2035 2040 2045 2050
= U 53 51 55 59 63 66
S| = K| 7,691 10,575 13,015 14,905 16,716 18,283
A A 7,744 10,626 13,070 14,964 16,779 18,349
= LY 2,709 2,851 2,945 3,050 3,115 3,194
Z= =X 451 531 579 612 646 677
| 3,160 3,382 3,524 3,662 3,761 3,871
= LY 3,573 3,755 3,888 4,031 4,110 4,209
M == = K| 305 339 364 387 380 384
A 3,878 4,094 4,252 4,418 4,490 4,593
= LY 316 330 340 352 359 369
o= = | 55 76 9% 122 152 188
A A 371 406 436 474 511 557
= LY 302 321 329 339 344 351
ézj) = K| 73 102 126 145 164 179
A 375 423 455 484 508 530
o | =i 119 133 135 137 137 137
=4t = U 152 171 174 176 176 175
AtH = Lf 44 50 51 52 51 51
S = L 17 20 20 20 20 19
T = U 14 15 15 16 16 16
1= a2 = | 3 5 6 7 8 8
¥ 0| FI|E SEHHMTHH) 7 AetE)e 49, ST ==AM8E 1250
MUEISEZAL 7|24 8 o8 S 7Y HEZNE HE AS T FJF 22 FX



<ofiH| AlLt2|2 @-5&(S2), 2 ¥
T 2025 2030 2035 2040 2045 2050
= 46 44 48 51 55 58
S = K| 7,284 9,476 11,308 12,677 13,928 14,971
| 7,330 9,520 11,356 12,728 13,983 15,029
= LY 2,355 2,479 2,561 2,652 2,708 2,778
2= = 427 474 502 519 536 552
| 2,782 2,953 3,063 3,171 3,244 3,330
= LY 3,107 3,266 3,381 3,505 3,574 3,660
M == = K| 289 303 315 328 316 314
oy | 3,396 3,569 3,696 3,833 3,890 3,974
= LY 274 287 296 306 312 320
o= = K| 52 68 83 103 126 154
A 326 355 379 409 438 474
= U 262 279 286 295 299 306
ot
(= 3) =X 69 91 109 123 136 146
A 331 370 395 418 435 452
o %= =LH 103 115 117 119 119 119
o | = 132 149 151 153 153 152
AL = Ly 39 44 44 45 45 44
. = U 15 17 17 17 17 17
T = U 12 13 13 14 14 14
Lk | = 3 4 5 6 6 7
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<ofld| AlLtE[2 @-2I=(S3), 2 H
T= 2025 2030 2035 2040 2045 2050
=Ly 39 38 41 44 46 49
oI H = K| 6,976 8,999 10,687 11,896 12,845 13,585
| 7,015 9,037 10,728 11,940 12,891 13,634
=LY 2,002 2,107 2,177 2,254 2,302 2,361
PAgry = | 409 450 474 486 493 500
27 2,411 2,557 2,651 2,740 2,795 2,861
=LY 2,641 2,776 2,874 2,979 3,038 3,111
M == = | 276 288 298 308 291 285
27 2,917 3,064 3,172 3,287 3,329 3,396
=Ly 233 244 251 260 265 272
o= = | 49 65 78 97 116 139
A 282 309 329 357 381 411
=L 223 237 243 251 255 260
égj) = K| 66 86 103 115 125 132
27 289 323 346 366 380 392
o= | =i 88 98 100 101 101 101
SA | 2y 113 127 128 130 130 129
ALH = LY 33 37 38 38 38 38
3 | Zuf 13 14 15 15 15 14
T = LY 10 11 11 12 12 12
kot = K| 3 4 5 5 6 6
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FTYE SET8 AY ol AuaR)
<& AlLtEl2 - HE(S), M E>
T 2025 2030 2035 2040 2045 2050
= LY 13.41 14.12 14.64 15.19 15.51 15.89
S| =X | 4686.18 | 541054 | 6,050.70 | 6,72556 | 7,359.43 | 7,893.28
A | 469959 | 542466 | 606534 | 6,740.75 | 7,374.94 | 7,909.17
=Ly 228.16 240.26 249.13 258.41 263.95 270.35
Z= =X 100.45 114.02 126.39 140.70 155.56 169.44
| 328.61 354.28 375.52 399.11 419.51 439.79
= LY 313.44 330.06 342.25 354.99 362.61 371.39
M == = K| 34.62 39.58 4447 50.19 52.15 55.02
| 348.06 369.64 386.72 405.18 414.76 426.41
= LY 19.32 20.35 21.10 21.88 22.35 22.89
o= = | 6.43 7.86 9.25 10.85 1248 13.95
A A 25.75 28.21 30.35 3273 3483 36.84
=Ll 19.28 20.30 21.05 21.83 2230 22.84
é;j) = K| 7.76 9.48 11.15 13.08 15.05 16.83
A A 27.04 29.78 32.20 34.91 3735 39.67
o =LY 3.63 3.82 3.96 411 4.20 430
=4 = U 4.44 4.67 4.85 5.03 5.13 5.26
AbH = L{ 1.04 1.10 1.14 1.18 1.21 1.23
S = L 0.45 0.47 0.49 0.57 0.52 0.53
T = U 0.66 0.70 0.72 0.75 0.76 0.78
okt = K| 047 0.58 0.68 0.80 0.92 1.03
x 0| B7|E SeHAHOH) 7+ Agtg)el 49, 3T =&4aldE 112510
MUEISME AL 7|24 8 o S 7Y HEHANE HE: HAE = FI Ed F



<2 AL 2-FE(S2), M =>
T= 2025 2030 2035 2040 2045 2050
= Lf 11.66 12.28 12.73 13.21 13.49 13.82
S =H| | 447875 | 5011.18 | 545343 | 5887.85 | 6,273.37 | 6,589.36
A | 449041 | 502346 | 5466.16 | 5901.06 | 6,286.86 | 6,603.18
= Lf 198.40 208.92 216.64 224.70 229.52 235.09
2= | = 94.56 102.33 108.55 115.12 121.56 127.56
A 292.96 311.25 325.19 339.82 351.08 362.65
= Ui 272.55 287.01 297.60 308.69 315.31 322.95
M == = | 32.59 35.52 38.19 41.07 40.75 4142
| 305.14 322.53 335.79 349.76 356.06 364.37
= Lf 16.80 17.69 18.34 19.03 19.44 19.91
o= = | 6.05 7.05 7.94 8.88 9.75 10.50
27 22.85 2474 26.28 27.91 29.19 3041
= Lf 16.76 17.65 18.30 18.99 19.39 19.86
o of
('%rg) = A 7.30 8.50 9.58 10.70 11.76 12.67
27 24.06 26.15 27.88 29.69 31.15 32.53
o= | ZLj 3.16 3.32 345 3.57 3.65 3.74
=4 = Ly 3.86 4.06 4.21 437 4.47 457
AtH =LY 0.91 0.95 0.99 1.03 1.05 1.07
e = U 0.39 0.41 0.42 0.44 0.45 0.46
T = Uy 0.57 0.61 0.63 0.65 0.66 0.68
1= 4ol = K| 0.45 0.52 0.58 0.65 0.72 0.77
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<& ALE[2-2F(S3), M =>
T 2025 2030 2035 2040 2045 2050
= LY 9.91 10.44 10.82 11.22 1147 11.74
oI =M | 444965 | 495609 | 535732 | 569040 | 5962.88 | 6,181.62
AH | 445956 | 496653 | 536814 | 5701.62 | 597435 | 6,193.36
= U 168.64 177.59 184.14 191.00 195.10 199.82
Z= = | 93.75 100.77 105.83 109.50 112.69 115.80
| 262.39 278.36 289.97 300.50 307.79 315.62
= LY 231.67 243.96 252.96 262.39 268.01 274,51
M == = K| 32.31 34.98 37.24 39.06 37.78 37.60
A A 263.98 278.94 290.20 301.45 305.79 312.11
= LY 14.28 15.04 15.59 16.17 16.52 16.92
= = | 6.00 6.94 7.74 8.44 9.04 9.54
A A 20.28 21.98 23.33 24.61 25.56 26.46
= LY 14.25 15.00 15.56 16.14 16.48 16.88
(g 2;; = K| 7.24 8.38 9.34 10.18 10.90 11.50
A A 21.49 23.38 24.90 26.32 27.38 28.38
o == = Li 2.68 2.82 2.93 3.04 3.10 3.18
= = L 3.28 345 3.58 3.72 3.80 3.89
AH =LY 0.77 0.81 0.84 0.87 0.89 0.91
Ze | Iy 0.33 0.35 0.36 0.37 0.38 0.39
T = U 0.49 0.51 0.53 0.55 0.57 0.58
et | =A 0.44 0.51 0.57 0.62 0.67 0.70
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3
« FEAME IH5I0d 7|2 Alvg|e IHM HEsES 2l X (£15%)
<ofH| ALtz O-=2HST), © E>
= 2025 2030 2035 2040 2045 2050
= LY 13.41 14.12 14.64 15.19 15.51 15.89
S| =H | 5389.10 | 622214 | 695830 | 7,73439 | 8463.35 | 9,077.26
A | 540251 | 623626 | 697294 | 7,74958 | 847886 | 9,093.15
= LY 228.16 240.26 249.13 258.41 263.95 270.35
4= = | 115.52 131.12 145.34 161.80 178.89 194.86
| 343.68 371.38 394.47 420.21 44284 465.21
= LY 313.44 330.06 342.25 354.99 362.61 371.39
M == = K| 39.81 4552 51.14 57.72 59.97 63.27
| 353.25 375.58 393.39 412.71 42258 434.66
= LY 19.32 20.35 21.10 21.88 2235 22.89
o= = K| 7.40 9.04 10.64 12.48 14.35 16.05
A A 26.72 29.39 31.74 3436 36.70 38.94
= Lf 19.28 20.30 21.05 21.83 22.30 22.84
o of
('%rg) = K| 8.92 10.90 12.83 15.04 17.30 19.35
A A 28.20 31.20 33.88 36.87 39.60 42.19
o == = Ly 3.63 3.82 3.96 411 4.20 430
24 = LY 4.44 4.67 4.85 5.03 5.13 5.26
AtH =LY 1.04 1.10 1.14 1.18 1.21 1.23
Zet = Ly 0.45 0.47 0.49 0.57 0.52 0.53
T = U 0.66 0.70 0.72 0.75 0.76 0.78
= a2 = K| 0.54 0.67 0.78 0.92 1.06 1.18
¥ 0| FI|E SEHHMTHH) 7 AEtE)e] 49, 5T =48 S 1250
MUEISEZAL 7|24 8 o8 S 7Y HEZNE HE AS T FJF 24 F7
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<ofld| ALt O-FE(S2), d &>
T= 2025 2030 2035 2040 2045 2050
= Lf 11.66 12.28 12.73 13.21 13.49 13.82
oI =H| | 447875 | 5011.18 | 545343 | 5887.85 | 6,273.37 | 6,589.36
AH | 449041 | 502346 | 5466.16 | 5901.06 | 6,286.86 | 6,603.18
= U 198.40 208.92 216.64 22470 229.52 235.09
= = A 94.56 102.33 108.55 115.12 121.56 127.56
27 292.96 311.25 325.19 339.82 351.08 362.65
= LY 272.55 287.01 297.60 308.69 315.31 322.95
M == = K| 32.59 35.52 38.19 41.07 40.75 4142
27 305.14 322.53 335.79 34976 356.06 364.37
= L 16.80 17.69 18.34 19.03 19.44 19.91
=l = | 6.05 7.05 7.94 8.88 9.75 10.50
27 22.85 24.74 26.28 27.91 29.19 30.41
= LY 16.76 17.65 18.30 18.99 19.39 19.86
£ ot
(£3H = | 7.30 8.50 9.58 10.70 11.76 12.67
A 24.06 26.15 27.88 29.69 31.15 32.53
o %= =LY 3.16 3.32 3.45 3.57 3.65 3.74
o | = 3.86 4.06 421 437 4.47 457
AH =LY 0.91 0.95 0.99 1.03 1.05 1.07
ZEgh | 2Ly 0.39 0.41 0.42 0.44 0.45 0.46
T = Uy 0.57 0.61 0.63 0.65 0.66 0.68
Xk | =A 0.45 0.52 0.58 0.65 0.72 0.77
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<ofjd| AlLtE[2 O-2I=(S3), @ &>
T 2025 2030 2035 2040 2045 2050
= LY 9.91 10.44 10.82 11.22 1147 11.74
ol =M | 3,78220 | 4,212.68 | 455373 | 4,836.83 | 506847 | 5254.41
A | 379211 | 422312 | 456455 | 4,84805 | 5079.94 | 5266.15
= LY 168.64 177.59 184.14 191.00 195.10 199.82
Z= = | 79.69 85.65 89.95 93.08 95.78 98.43
| 24833 263.24 274.09 284.08 290.88 298.25
=Ll 231.67 243.96 252.96 262.39 268.01 274,57
M == = | 27.46 29.73 31.65 33.20 32.11 31.96
A A 259.13 273.69 284.61 295.59 300.12 306.47
= LY 14.28 15.04 15.59 16.17 16.52 16.92
o= = X 5.10 5.90 6.58 7.18 7.68 8.10
A 19.38 20.94 22.17 23.35 24.20 25.02
=Ll 14.25 15.00 15.56 16.14 16.48 16.88
ST
(£ 5) = K| 6.15 7.12 7.94 8.65 9.26 9.77
A A 20.40 22.12 23.50 24.79 25.74 26.65
o == = L} 2.68 2.82 2.93 3.04 3.10 3.18
S | = 3.28 3.45 3.58 3.72 3.80 3.89
F& = L} 0.77 0.81 0.84 0.87 0.89 0.91
. = U 0.33 0.35 0.36 0.37 0.38 0.39
T = U 0.49 0.51 0.53 0.55 0.57 0.58
kot = K| 0.38 0.43 0.48 0.53 0.57 0.60
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6] T EFTQ AY oy AlLt22@)
« 7|2 AlLtz|ol ZEA 10d42H10~"19)2] of| Sx|-4 =x[Zt Xjo[(H|8)E Y
<ofH| ALtz @-=H2HST), © E>
T 2025 2030 2035 2040 2045 2050
= LY 13.41 14.12 14.64 15.19 15.51 15.89
ol =& | 484092 | 5589.19 | 6,250.48 | 694762 | 7,602.42 | 8,153.89
A~H | 485433 | 560331 | 626512 | 6,962.81 | 7,617.93 | 8,169.78
= LY 228.16 240.26 249.13 258.41 263.95 270.35
Z= =X 103.77 117.79 130.56 145.34 160.69 175.03
| 331.93 358.05 379.69 403.75 424,64 445.38
= LY 313.44 330.06 342.25 354.99 362.61 371.39
M == = K| 35.76 40.89 45.94 51.85 53.87 56.84
| 349.20 370.95 388.19 406.84 41648 428.23
= LY 19.32 20.35 21.10 21.88 2235 22.89
o= = K| 6.64 8.12 9.55 11.21 12.89 1441
A 25.96 28.47 30.65 33.09 35.24 37.30
= LY 19.28 20.30 21.05 21.83 2230 22.84
=
('%rg) =X 8.01 9.79 11.52 13.571 15.54 17.38
A A 27.29 30.09 32.57 35.34 37.84 40.22
o =LY 3.63 3.82 3.96 411 4.20 430
SAE | 2Ly 4.44 467 4.85 5.03 5.13 5.26
AbH = LK 1.04 1.10 1.14 1.18 1.21 1.23
=gt = Ly 0.45 0.47 0.49 0.57 0.52 0.53
T = L{ 0.66 0.70 0.72 0.75 0.76 0.78
1= 4ol = | 0.49 0.60 0.70 0.82 0.95 1.06
¥ 0| FI|E SEHHMTHH) 7 AetE)e 49, ST =548 S 1250
MUEISEZAL |24 8 o8 S 7Y ZEZNE HE AZ T FJ E3 F



<ofid| AlLt2|2 @-FB#(S2), M &>
T= 2025 2030 2035 2040 2045 2050
=Ly 11.66 12.28 12.73 13.21 13.49 13.82
S =H| | 447875 | 5011.18 | 545343 | 5887.85 | 6,273.37 | 6,589.36
A | 449041 | 502346 | 5466.16 | 590106 | 6,286.86 | 6,603.18
= Lf 198.40 208.92 216.64 224.70 229.52 235.09
2= | = 94.56 102.33 108.55 115.12 121.56 127.56
A A 292.96 311.25 325.19 339.82 351.08 362.65
= Ui 272.55 287.01 297.60 308.69 315.31 322.95
M == = | 32.59 35.52 38.19 41.07 40.75 4142
27 305.14 322.53 335.79 349.76 356.06 364.37
= Ui 16.80 17.69 18.34 19.03 19.44 19.91
o= = | 6.05 7.05 7.94 8.88 9.75 10.50
| 22.85 24.74 26.28 27.91 29.19 3041
= Ui 16.76 17.65 18.30 18.99 19.39 19.86
o of
('%rgz) = A 7.30 8.50 9.58 10.70 11.76 12.67
27 24.06 26.15 27.88 29.69 31.15 32.53
o= | =L 3.16 3.32 345 3.57 3.65 3.74
=4 = Li 3.86 4.06 4.21 437 4.47 457
AbH =LY 0.91 0.95 0.99 1.03 1.05 1.07
e = U 0.39 0.41 0.42 0.44 0.45 0.46
T = Uy 0.57 0.61 0.63 0.65 0.66 0.68
kot = K| 0.45 0.52 0.58 0.65 0.72 0.77
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<ofjd| AlLtE[2 @-2I=(S3), @ &>
T= 2025 2030 2035 2040 2045 2050
= Lf 9.91 10.44 10.82 11.22 1147 11.74
oI =M | 430275 | 479246 | 518043 | 550252 | 5766.01 | 5977.54
AH | 431266 | 480290 | 519125 | 5513.74 | 577748 | 5989.28
= LY 168.64 177.59 184.14 191.00 195.10 199.82
Z= = A 90.65 97.44 102.33 105.89 108.97 111.97
27 259.29 275.03 286.47 296.89 304.07 311.79
=Ll 231.67 243.96 252.96 262.39 268.01 274.51
M == = K| 31.24 33.83 36.01 37.77 36.53 36.36
| 262.91 277.79 288.97 300.16 304.54 310.87
= LY 14.28 15.04 15.59 16.17 16.52 16.92
= = | 5.80 6.72 7.49 8.16 8.74 9.22
| 20.08 2176 23.08 2433 25.26 26.14
=Ll 14.25 15.00 15.56 16.14 16.48 16.88
=
('%rg) =X 7.00 8.10 9.03 9.85 10.54 11.12
A A 21.25 23.10 2459 25.99 27.02 28.00
o == = Li 2.68 2.82 2.93 3.04 3.10 3.18
24 | = 3.28 3.45 3.58 3.72 3.80 3.89
AbH =LY 0.77 0.81 0.84 0.87 0.89 0.91
e = U 0.33 0.35 0.36 0.37 0.38 0.39
r = L} 0.49 0.51 0.53 0.55 0.57 0.58
kot = K| 043 0.49 0.55 0.60 0.64 0.68
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